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NoTE:— Answers may be written either in English or in
Hindi; but the same medium should be used
throughout the paper. |
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Attempt all questions.
Use of simple calculator is allowed.
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l. (a) What do you mean by investor’s education? What

are the rights and responsibilities of an investor?
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(b)
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An investor wants to invest in one of
securities with equal returns but differep
bilities. Compute the expected retury an
both the securities. Which Security sh
investor buy?
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Return (%) Probability (X) PIWM
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10 0-3 0-1
12 0-2 03
15 0-2 0-2
18 0-1 0-3
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STt (%) Wehal (X) | sfeser (Y)
-3 0-2 0-1
10 0-3 0-1
12 0-2 0-3
15 0-2 0-2
18 | 0-1 0-3

Or(a:I'EIEID

(a) What is SEBI? What are its objectives?
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o) An investor purchases an equity share at 5 price 6f
Rs. 50. Its expected year end price and dividend
with relevant probabilities are given below:

~ Probability | Share Price (Rs.) |Dividend (Rs)
— 0-20 70 6
0-15 65 5
0-25 55 4
0-15 50 3
0-25 42 NIL

Find out the expected return and variability of
return of the equity share.

T FEvE 50 %o & FAG W TEH WHAT S
gledr & | ad F GG W gHH A Hiad

o Sy § geEtya wiwad A & T €
yTferehar 3TYT FWA (To) | AW (Bo)
0-20 70 6
0-15 65 5
0-25 . 4
0-15 50 3
- 0-25 42 NIL
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2 (a) What is primary market? How is it different from
secondary market?
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(b)

- The bond carries a coupon rate of jnte

4
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Mr. X is considerihg to b'u_y a bond hg,
value of Rs. 2000 which will be redeem
period of 5 years in five equal annuaj j

Ing facg
ed Qver i
nstalmenm
rest of go,
like to p,,
$ 10%.
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Find the value at which Mr. X woulqg
the bond if his expected rate of returp
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Explain the term investment. What facfors should

an investor - consider while making investment
decision?
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A 12 % bond of Rs. 100 is available in the market
at Rs. 95. The interest is payable semi-annually.
The bond will mature in 5 years from now
Compute yield to maturity (YTM) of this bond
What will be the value of the bond if the required
rate of return of an investor is 14%? Should h¢
buy the bond?
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3. (a)

(b)
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Differentiate between

Bar Chart and Candle Stick
Chart. a '

4

ABC Company is expected to grow at 10% per
year for the next 4 years and then to grow
indefinitely at rate of 7% p.a. The required rate
of return on the equity shares is 12%. The
company paid a dividend of Rs. 2 per share last
year. Determine the market price of the share
today. |
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6
- (a) What is Market Efficiency? What ape its "
forms?

' 4

(b) A company’s share is currently selling at Ry 144
The dividend paid by the company last ye,, Wa.v;
Rs. 9.60 per share. If the expected rate of grow,
~of dividend is g and the required rate of retury
(k) is 12, what ‘will be the share price after

Ce

years?

TF A H AT 144 To F O @ ] 1
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4. (a) What do you mean by credit rating? Explain its
~ importance in investment decision.

Pfee T F emyen 1 arad @ 2 Faw-fola 3
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(b) The following are the expected returns and risk of
securities A and B:

Expected Returns Standard Deviation
A 12% 16%
B . 15% 20%

The correlation coefficient between the returns OE
A and B is 0-8. An investor wants to put 40% O
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his investment in A and 60% in B or 40% in B and
remaining 60% in A. Which portfolio is better?

AamB%wﬁuﬁﬁ%ﬁanos
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(a) What is a deep discount bond" How is the value

of such bond calculated‘?

g fewRe sie = 22 i‘@rm%nﬁaﬁ%&
T F SR @ 2
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(b) From the data giw}eh below, find which of the

following securities are over-priced or under-
priced using SML equation:

Security A | B C D E
B 1.6 {05 |12 3.0 19

R

Mt 15 | 10 | 18 25 15

The return on market index is 12% and the return

On risk free asset is 8%.

T RE T stiwet ¥, SML wier @ swE
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5. (a) The following particularé are given relating to ,

mutual fund:—

Opening NAV ~ Rs. 104 crores
Closing NAV .’ Rs.162crores
Administrative expenses including
Fund Manager remuneration Rs. 253 lakhs
Management Advisory Fees Rs. 132 lakhs

| Publicity and Documentation Rs. 70 lakhs

Ascertain the Expense Ratio.

T REIA Gg A @ty faor A iy m E

TRTH NAV :50104::1:635
A NAV Fo 162 FS
WS o ¥ R wied ;
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conditions hold true. Shoy]
‘hold this stock in his portfolig?

Assume that CAPM
d Mr. X continue to

g AU T yar MR | 3147
(b) Mr. X is holding shareg of A Ltd. in ns |
Probability distribution of expect::(lj hrlztportfoho.
this stock and market index js given belm:-m -
[ Situation Probabilit; Return of Tet'_\
1A% 4o
Recession 0-2 \\10"__ ML"%@{L
Average 0-4 12 b
Good 0-3 21 o
‘|Boom 0-1 27 A
The risk fn_ae rate is?%_

ﬁoxﬁmﬂiﬁmﬁAﬁro%mr@éu
W Wi Q SRGUECER RE i g o g —

- SR AR et Y fean 4
s . | wifawar | A &Y aqt AR =
(%) A (%)
& 0-2 10 10
st 0-4 12 16
3T 0-3 21 22
gl 0-1 27 29

Wifgw oo @ 69 2 "Hd gY & CAPM
feafral o 3 = firo X 1 oY GFwIferY A
W Ris @ @ @@ 91y ?
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(a) What do you mean by Systematic Investme,
Plan? What are its benefits? !

TSy fFaw A § TR F e R gy

T A9 ¢ ? 3

(b) Mr. A has bought call and put options both. Each
contract is of 100 shares. He has purchaseq One
3-months call with a strike price of Re. 54 ang Rs.
2 as premium. He has purchased a 3-months put
option with a strike price of Rs. 50 and Rs. 1
premium. Find out his position and total profit of
loss if stock price on expiration date is (i) Rs. 48,

-~ (ii) Rs. 58. ,
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